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b =

F= Sme(l —emf)(ps—pg)G

OIIA Lmf @ RIARSSIEEAl HHES =0/(m)
emf . vaccum Fraction
ps/pg t 2l ¥ KRS 312 LS (kg/m)
S:HESHA
LEVA MItA(RARSS £5)
14 L
m = 0.000lg (ps — pg)" 0
wp g
O4OIA Dp @ 2Rt AR HgHm)
p o AaEI12 viscosity
* 220 3J] 1.1mmIIE gl 2ARSSIESZ. ()= 0.8mm
2|2 80°C 5007C 750C
0.85m/s 0.42m/s
Vmf 0.52m/s
(0.48) (0.24)
Y 4 253 L0 1.2002 ARSI 20E o 2-1081 EIHXIOICH E5
carry overct of0d JtASEH 26t 228 L LI AAZE 0|€dle A0 Us
O 2&Al =2|oli0F &tC
Lt. ==
= coarse Medium Fine Hl 2
MXE 1.8-2.6 1.3-1.6 0.8-1.0
ey 1.7-1.8 1.0-1.6 0.6-0.65 H1.1
= 2| 20% 50% 30%
Ct. &3 &
1) Tuyere Eye(Lid)S =T H A
Jb. Q = 15,000Nm/h r(CHOI2 %= 20TCZ AL

15,000 x (273 + 20) / 273 =

Lt. 1Eye(hole)d SURS(HSIIE)
4.4719 / 10,494 = 0.000426m /sec
EZCHA(EE BN E)
Q=AXxYV
0.00426 = 8.9 x 10°% x v
V = 47.86m/sec
. 1Eyed St RL(THIIE)

4.4719 / 15,294 = 0.000292395m" /sec

CSEAMHEEIIE)

16,099AM /hr = 4.472m /sec

Ct.



0.000292395 = 3.26 x 10°°% x v
V = 89.69m/sec
% HEII=AMUAME 80~100m/secE
2) Sl R= A& EAHDIE
Oh) BHOPAZE H A
Q = 14,850Nm*/hr, at 871°C
= 1 4,850%(273+871)/273=62,228.6AM /hr
= 17.29AM /sec
LE) SHHE A
(Bed& && 3.96m, Free BoardE && 4.88m)
Ch =& AlA
Q= AxV,
17.29 = 7 (4.88/2)* XV,
V, =17.29/12.3 = 1.41m/sec
- Free BoardZS0ll A
17.29 = 1< (4.88/2)* X V,
V. = 17.29/18.69=0.93m/sec
M E&I|= At Datalll M= 1.0m/sec2 HE.
|2+ (Retension time)
= 143m'/17.29 = 8.27sec

R
HYRA 2% FE RGN S& 6X 014 RAE,
3. =8 R

i
ki
il

o
é
Ju
>

- Q1 = 16,000Nm/hrol Z<
16,000x4.19 = 67,040Am /hr = 18.62Am /sec
13,000NM /hrol B3
13,000x4.19 = 54,470Am /hr = 15.13Am /sec
-Q3 = 18,000NM /hrol J L
18,000x4.19 = 75.420Am /hr = 20.95Am /sec
LE. 55 HA
- bed S0UIA
« V,, = Q1/A = 18.62/12.3 = 1.5m/sec
. ¥V, = 15.13/12.3 = 1.23m/sec
« Vi, = Q1/A = 18.62/12.3 = 1.5m/sec
- Free boardS 0l A
= Q1/A = 18.62/18.69 = 0.0996m/sec
* Vp = 15.13/18.69 = 0.80m/sec
20.95/18.69 = 1.12m/sec

13
Ch. &2 E Q] &4

- Q2

~
[

<
I}



~ W o 00 MH ] ok
x =S 20 O ol oK
~ O E or
22 A I
0 = I T K = OF o
oD < ®F o ~ 0 KO W .
KA %0 o @%% __Lomuaﬁ_M%
I 0 <= _mm
K i =) — O
I I e ™
U 30 U wWow © 4SS
] Kb o< HO Kb O] Ok Ok & Bl & U0
509z 8 1 s
Mo | zr 0 4
mﬁ M =T %
N_. ﬂnw |..A.._ _n_o am._ m__.m @ ._l_.u_ g
N i —_ O_n —uu_ .A._ -
A w | o1 - W
Nu._ Hr__w IK m o_=_ a_.=_ __o; _un_ O_n
IH .... 0 W o _x_.=_ m ol An_ =
w3 E s g @ o
SR (3w Wwm W "N
. M2 KU |0y RMOE 0Ok S M &
RIS ) 33 ®0
S5 " Mo o
= I w oA _m 3
wm mo e whHhs W3
D ~ o Ol 4o R T
X < K no B o K0 D x
Z) 5 A A = .wo i+
It oD = 20 10) <K w00
< s ¥ gy
B o7 U P W ow =
e B = Ok H SOk~ T 0
I Kd ) R0
s - or) i

<f a oF _
0 z H =
oI A W ol ol
Kk ol = <I B
TS
I+ o 0 e
Do U0 o
Ul MW H 02 B
] L AR
=l RO < = ol o)
A S A W
a_
_ s I
<l on | M ) -
< SE: TR
o K laa 5 ¥
© IF O | R oMo
i N= | mWDdTo =
o o5 |20 o LA
= kS SEa )
n W o | X0 i 30
AT RS T
4 & | A w0 8 3 s A
1] -
<l R
#aid .F.mfi = o“_o I}I
<l ﬁuv . | = S I )
I R
K- ey < =
i Ao I MW ﬂ Ko &0 ™ Jo
B 5 S W o — H
S = &S W
” : o 5 | T 8 & - o
W bl | RO < RS
OF &0 H & & H wl
15 K o RO
- + W ur




U S5O 2

L1 = iLH%’—‘*./(DQX%)

L3(&E &atHl) = XIS xF
S&L/DE 3~42 2F

2012 = (L1+L2+L3)/3

3 ™ & S (RPM)AHI A
n=10~12%xL/T/D/« a=SIN 9)
O4OIM L:2Z0l, T: MZAIZ2H D &2&, o (E& IS0 3~7°)

AL
-

OIIM =3 Z QtAIZH(S 4 30~50°%)

=4 ol
k=HII=2 ALY &2l &g LS/ UHEH
S& L2X 25t= 13~15x10"kcal/m —hr
MDA =8t E=010E #I SH, Wat=2, 2501, J10, TIRE RING, 2XF HA
2 M8 S B2 £AK20 Uel Ny d=otilz et
CAAAd

Diameter Calculation
Gas Volume2 35632.8Nm'/hr2 JI&GHD

D = V(Qx(Gas Temp+273)/273/3600/6/ (r/4))
= /(35633 < (1055.8 +273)/273/3600/6/(7/4)) = 3.2 m

kiln Length calculation

L1 = SWHEE/(kiin diazx(7/4))
= 67m/(3.22x(x/4))
= 8.3m

L2 = SW&HA/(kiin diax(x/4))

= 22.3m/(3.2x(7w/4))



= 6.6m
L3 = kiln diax & &l
= 3.2mx3.72 JI&
= 11.83m
% Length Average : (L1+L2+L3)/3 = 8.9m(L)
9m or 10mZ Z2&, Olli= JI& HEAIR 2ot EEE2 Fo6H0{0FE.
3) kiln rpm. Calculation (sample)
N1 1.2x8.3ml/120min/3.2m/sin-1(3/100) = 0.14rpm
N2 = 1.2x6.6ml/120min/3.2m/sin-1(3/100) = 0.11rpm
N3 = 1.2x11.3ml/120min/3.2m/sin-1(3/100) = 0.19rpm
s Average rom (N1+N2+N3)/3 = 0.147rpm
4) =258 25HHIIZ2)
St =8 =67.0m
INCINERATION CAPACITY xHu = 1,672kg/hx6,006kcal/kg
= 10,042,032kca;/hr
10,042,032(kcal/hr)/67.0(m")
= 149,881kcal/m —hr
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HiOtA AHI2A Atdl
) Wet Scrubber+DI+Wet E.P+Stack
) MC+Wet E.P+Stack
ALHIOEA SHIAA At
MC+SDR+DI+Bag Filter+Stack
DI+Bag Filter+SCR+Stack
SDOR+DI+Bag Filter+SCR+Stack
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